
 

 
fer90−3n

fer90-1a

adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
log [La, Ba]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

fer90-2a

saturation L
adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
log [La/Ga, Ba/Ga]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
La

570

Go

520

Ba

470

fer90-3a

adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga, La, Ba]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

fer90-4a

saturation L
adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, La/Ga, Ba/Ga]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
La

570

Go

520

Ba

470

 

  

 
fer90−7n

fer90-5a

adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga, Ba]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

fer90-6a

saturation L
adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, Ba/Ga]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
La

570

Go

520

Ba

470

fer90-7a

adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga, La, ]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

fer90-8a

saturation L
adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, La/Ga, ]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
La

570

Go

520

Ba

470

 

 

  

 
fer91−3n

fer91-1a

adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
 [La, Ba]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

0,0

0,5

1,0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

fer91-2a

saturation L
adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
 [La/Ga, Ba/Ga]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

  

  0

  

  2
La

570

Go

520

Ba

470

fer91-3a

adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, La, Ba]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

0,0

0,5

1,0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

fer91-4a

saturation L
adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, La/Ga, Ba/Ga]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

  

  0

  

  2
La

570

Go

520

Ba

470

 

  

 
fer91−7n

fer91-5a

adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, Ba]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

0,0

0,5

1,0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

fer91-6a

saturation L
adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, Ba/Ga]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

  

  0

  

  2
La

570

Go

520

Ba

470

fer91-7a

adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, La, ]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

0,0

0,5

1,0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

Lo
Go
Bo

La
Ga
Ba

520:
=−0.35
=0.0
=−0.55

=−0.35
=−0.35
=−0.55

fer91-8a

saturation L
adaptation
L&B: 520
ts=0.1

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, La/Ga, ]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

  

  0

  

  2
La

570

Go

520

Ba

470

 

 

V

C

L

M

O

Y

Y

O

M

L

C

V

V C

L M

O Y

Y O

M L

C V

-8
-6

-8
-6

-8
-6

-8
-6

TUB-test chart fer9; sensitivity 570,470,520, LBG−>L/G & B/G, lin[thresholds]=0 & 0,10
log & lin [sensitivity], LMS-R24=570,470,520, YB antigonisme

http://farbe.li.tu-berlin.de/fer9/fer9l0na.txt /.ps; only vector graphic VG; start output
see separate images of this page: http://farbe.li.tu-berlin.de/fer9/fer9.htm

see sim
ilar files of the w

hole serie: 
http://farbe.li.tu-berlin.de/fers.htm

technical inform
ation: http://farbe.li.tu-berlin.de or http://color.li.tu-berlin.de

T
U

B
 registration: 20231201-fer9/fer9l0na.txt /.ps

T
U

B
 m

aterial: code=
rha4ta

 application for evaluation and m
easurem

ent of display or print output


